RVL13.com

STREET WORKOUT PARKS

Nippur S Nippur M Nippur L Nippur Lmax
Nippur S+ Nippur M+ Nippur L+

ASSEMBLY INSTRUCTIONS

FOR
NIPPUR PARK SERIES



FASTENERS - BOLTS / NUTS / WASHERS

DIN 933

M12 x 90

DIN 933
M12 x 120

90

DIN 933

M12 x 130

DIN 933
M12 x 140

DIN125A-13

DIN 985 - M12

self locking hexagon nut

@24

120
130
140
=\
@ DIN 9021 - 13

@37

RVL13.com




TYPES OF BARS - DIFFERENT TYPES OF BARS AND HOLES POSITIONS

LONGER HOLE DISTANCE SHORTER HOLE DISTANCE
> { 5
©)
@)
©)

UPPER BAR

6\ w

o

o

/

MIDDLE BAR

[

o

O

o

/

LOWER BAR

o

RVL13.com



INSTALLATION OF A BAR - CORRECT AND WRONG MONTAGE

®© -
INSTALLED CORRECTLY (@) @ i

------
. ~

WRONG INSTALLATION

.

WRONG INSTALLATION o) @ i

3 RVL13.com



MONKEY BAR - INSTALLATION OF MONKEY BAR

M12 x130 4 pc
washers 8 pc
nuts 4 pc

CORRECT MONTAGE SIDE

M12 x130 2 pc
washers 4 pc
nuts 2 pc

RVL13.com 4



WING - WING ASSEMBLY

plasticlid 70 x50 2 pc

M12x75 4 pc
washers 8 pc
nuts 4 pc

FINAL ASSEMBLY

MI12x 75 4 pc
washers 8 pc
nuts 4 pc

5 RVL13.com



WING - INSTALLATION OF WING TO LEGS

CORRECT MONTAGE SIDE

A

<

M12 x130 2 pc
washers 4 pc
nuts 2 pc

M12 x130 2 pc
washers 4 pc
nuts 2 pc

RVL13.com



WING LEC / DESIGN FLANGE - INSTALLATION

M12 x140 2 pc
washers 4 pc
nuts 2 pc

M12x120 3 pc
washers 6 pc
MI12x130 1pc huts 3 pc
washers 2pc
nuts 1pc

color spacing tubes 3 pc
% p | [ [« [e] :

7 RVL13.com



MULTIBAR - INSTALLATION OF MULTIBAR AND WING DESIGN BAR

M12x130 2 pc
washers 4 pc

nuts 2 pc
N <,
@g >
i 9 MI12x140 2 pc ~
f> ! washers 4 pc 4!
nuts 2 pc

|
|
|
|
|
|
|
|
|
|
|
!
|
|
&

,

ey

QP MI2x 140 2 pc

washers 4 pc
nuts 2 pc

M12 x130 3 pc
- washers 6 pc
~_ huts 3 pc

M12 x120 3 pc

washers 6 pc
V nuts 3 pc

RVL13.com



RINGS HOLDER - INSTALLATION OF RINGS HOLDER

M12 x130 2 pc
washers 4 pc
nuts 2 pc

M12 x 90
washers 4 pc
washers 4 pc
nuts 2 pc

MI12x90 4 pc
washers 4 pc
washers 4 pc N
nuts 2 pc TN
) 3 P @
L
!
|
T [
: | M12x130 2 pc
‘ ‘ ‘ ‘ i i ‘ ‘ washers 4 pc
3 < nuts 2 pc

9 RVL13.com



BARS - INSTALLATION OF BARS AND SPECIAL BARS

(A © C)

\

M12 x 130 8 pc M12 x140 4 pc M12x90 2pc
washers 16 pc washers 8 pc washers 4 pc
nuts 8 pc nuts 4 pc nuts 2 pc

RVL13.com 10



DOUBLE DIP - INSTALLATION OF DOUBLE DIP AND DESING BEAM

6 pc

M12x90 6 pc
washers 12 pc

nuts
%

O%

M12 x130 8 pc
washers 16 pc
8 pc

nuts

0/‘\

RYLIB-CQN

o

0/‘\

®

RVL13.com



MONKEY HOUSE - ASSEMBLY OF MONKEY HOUSE

plasticlid 70 x50 2 pc

plasticlid 70 x50 2 pc

plastic lid 70 x50 2 pc

plastic lid 70 x 50 2 pc

RVL13.com 12



MONKEY HOUSE - ASsEMBLY OF MONKEY HOUSE

nuts 12 pc

M12x 140 12 pc
i Q washers 24pc

£\ ®
0
MI2 x 80 16 pc N
washers 32 pc
nuts 16 pc v
L

13 RVL13.com



POLE DANCE- AsSEMBLY OF POLE DANCE BAR

~

MI12x 35 2pc
washers 4 pc
nuts 2 pc

RVL13.com 14



